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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
Becennuinchke 1 3 6.0 6 6.0 10AKB 40 0.8 3 10 12 75 1 BCP CTOBOYPOBI DKL HIKA 27 He prseieH0
Becemnnipeske 1 2] 72 1 b 5.7 7B3/I3AKB 51 0.5 1 19 24 110 1 BCP CTOBGYPOBI MIKITHHKA 60 He passneno
Becennuibebke 6 9 42 42 42 10AXB 47 0.7 1 19 24 165 1 BCP CTOBGYPOBI IIKIHHKE 33 He pasmneso
Beboro no gicHBurey: 174 15,9 159
ITpubyspxe 45 2 238 25 <25 6134AB3+AKE 23 08 1 9 18 60 1 BCP cTOBGYpPOBI MK IHHKA 20 He pasBreso
Ipabysbke 45 3 13.0 13.0 13.0 433K 25831 AKB+YIH ke 0.65 2 22 30 205 1 BCP ¢10BGYPOBI MK THHKA 18 He sassieno
Tlpubyseke 45 | 11 26 26 26 SA33KIIr253+AKB 75 0.7 3 19 28 180 1 BCP CTOBGYPOBI IKIHHKE 20 He snsBneso
ITpuGysbke 7| 2 4.0 4.0 4.0 10AKB 311 0.7 3 BCP cToBGYpOBI MIKIAHMKA 15 He srganeto
Benoro no aicuuaray: 2.1 221 22.1
Beworo novpebyoTs
BrOipKoBYX caniTaprIX 38.0
pYOox Ha nrowmi, ra




